
 

Incomplete Records II (Higher Level) 

 

Bookkeeping (Higher Level)  
 

As we have already stated, some business people do not keep proper books of accounts 
but may keep records of cash, sales, purchases, expenses and VAT. The business does 
not use the double entry system. A record of VAT will be kept because it has to be paid 
or received back from the Revenue Commissioners every two months. At the end of the 
year the owner will do a stock take and all records then are given to an accountant in 
order to prepare final accounts. These accounts are then audited for tax purposes.  

What advice would be prudent for the owner of this business? 
 

• The owner should keep a detailed cash book and general ledger 
• The double entry principle should be used when preparing accounts 
• Day books should be kept 
• All of these would enable the owner to prepare accurate statements and not rely 

on estimates 
• There are software packages that the owner could learn to use such as Sage in 

order to keep detailed books of first entry and ledgers so that accurate 
financial accounts can be prepared.  

Type A (T Account Method) 
 

When answering in this format follow this sequence: 

1. Find capital/goodwill 
• To find capital: assets – liabilities at start of year 
• To find goodwill: assets – (liabilities + purchase price of business) at 

start of year 
 
 
 
 
 

Subject:  Leaving Certificate Accounting  

Teacher: Mr Lee 

Week:    Week 15 



 
2. Find total sales 

• (A) Prepare a cash account to find cash sales 

 

• (B) Prepare a debtors control account to find credit sales 

 
• Note: Total sales = cash sales + credit sales 

 
3. Find total purchases 

• Prepare a creditors control account 

 
• Note: Total purchases = cash purchases + credit purchases – drawings of 

stock 
 

4. Find loan interest 
Work out the interest on the loan for so many months. Therefore, total interest = 
interest paid + interest due 

Example: 10% loan of €100,000 taken out on 1/04/2014. Drawings are one third of 
interest payable and interest paid is €2,000.  

Interest payable = 10% of €100,000 for 9 months = €7,500. Therefore, drawings are 

€2,500.  

Interest paid    €2,000 

=Interest due at 31/12/2014 €5,500 

Total interest payable for year €7,500 

-Drawings    €2,500 

Profit/Loss    €5,000 

 

Balance b/ d xx Payment s ( add all payment s) xx

*Cash sales xx Cash drawings xx

Balance c/ d

Cash Account

Balance b/ d xx Cheques received ( found in bank lodge) xx

*Credit  sales xx Balance c/ d xx

Debt ors Cont rol Account

Cheques paid ( found in t he bank pay) xx Balance b/ d xx

Balance c/ d xx *Credit  purchases xx

Credit ors Cont rol Account



 

5. Work out expenses regarding drawings 

Used Method  Paid Method  

Rent paid X Rent paid X 

Add due at end of 

year 

X Less Drawings (of 

rent paid) 

X 

Less Prepaid at end 

of year 

X Add Due at end of 

year 

X 

Less Drawings (of 

last figure) 

X Less Prepaid at end 

of year 

X 

Profit/loss X Profit/loss X 

 

Notes: 

- If you are required to find drawings as part of interest payable or rent payable, 

then apply the “used method” 

- Wages due at the beginning of the year are usually deducted from general 

expenses 

- Stock of fuel is light and heat prepaid 

- Covenant for charity is an expense 

- College fees for a family member are included in drawings 

- Dividends are usually capital introduced and are added to capital in the balance 

sheet 

 

 

 

 



 

6. Find bank balance 

 

Notes: 

- Interest earned on investment fund is added to gross profit 

- Investment fund + investment interest go into financial assets in the balance 

sheet, i.e. assuming investment interest is due at the end of the year 

 

7. Find drawings 

Total drawings = cash drawings + stock drawings + expenses drawings + 

college fees 

Let’s take a look at an example: 

Q15.1 

On 1/1/2002 M. Smith purchased a business for €280,000 consisting of the following 
tangible assets and liabilities: premises, €240,000; stock €22,000; debtors €26,000; 
three months premises insurance prepaid €720; trade creditor’s €18,000 and wages due 
€900.  

During 2012 Smith did not keep a full set of accounts but was able to supply the 
following information on 31/12/2012.  

Cash payments:  

Lodgements €40,000, general expenses €32,000, purchases €67,000 

Bank Payments: 

Equipment €27,000, light and heat €8,000, annual premises insurance premium €4,080, 
creditors €36,000, interest €4,500, covenant for charitable organisation €3,000 and 
furniture €20,000 

 

Lodgement s ( all added) x Payment s ( all added) x

Loan received x Premises bought x

Invest ment  fund x

*Balance c/ d x

Bank Account



 

Bank Lodgements: 

Debtors €45,000, cash €40,000 and dividends €8,000 

• Each week, Smith took from stock goods to the value of €100 and cash of €150 
for household expenses 

• Walsh borrowed €120,000 on 1/04/2002, part of which was used to purchase an 
adjoining premises costing €80,000. It was agreed that Smith would pay 
interest on the last day of each month at the rate of 8% per annum. The capital 
sum to be repaid in the year 2014 and to provide for this the bank was to 
transfer €800 on the last day of each month from Smith’s bank account into an 
investment fund 

• Smith estimated that 25% of furniture and light and hear as well as 20% of 
interest payable for the year should be attributed to the private section of the 
premises 

• Included in the assets and liabilities of the firm on 31/12/2002 were stock, 
€25,000, debtors €36,000, trade creditors €3,000, cash €600, electricity due 
€200 and €120 interest earned by the fund to date/ 

You are asked to show with workings: 

a) The trading, profit and loss account for the year ended 31/12/2002 
b) The balance sheet as at 31/12/2002 

 

 

  

 

 

*Cash sales 14 7,4 0 0 .0 0€   Payment s ( add all payment s) 13 9 ,0 0 0 .0 0€  
Cash drawings 7,8 0 0 .0 0€     
Balance c/ d 6 0 0 .0 0€       

14 7,4 0 0 .0 0€   14 7,4 0 0 .0 0€   

Working 1 -  Cash Account

Balance b/ d 2 6 ,0 0 0 .0 0€   Cash received from debt ors 4 5 ,0 0 0 .0 0€   
*Credit  sales 5 5 ,0 0 0 .0 0€   Balance c/ d 3 6 ,0 0 0 .0 0€   

8 1,0 0 0 .0 0€    8 1,0 0 0 .0 0€    
Tot al sales = Cash + Credit

Working 1 -  Debt or's Cont rol Account

14 7,4 0 0  + 5 5 ,0 0 0  = 2 0 2 ,4 0 0



 

 

 

  

 

 

 

Cash paid 3 6 ,0 0 0 .0 0€   Balance b/ d 18 ,0 0 0 .0 0€    
Balance c/ d 2 3 ,0 0 0 .0 0€   *Credit  purchases 4 1,0 0 0 .0 0€    

5 9 ,0 0 0 .0 0€   5 9 ,0 0 0 .0 0€   

Working 2  -  Credit ors Cont rol Account

Tot al purchases = cash + credit  -  drawings of st ock
6 7,0 0 0  + 4 1,0 0 0  -  5 ,2 0 0  = 10 2 ,8 0 0

Working 3 Working 4
General expenses 3 2 ,0 0 0 .0 0€   Light  and Heat 8 ,0 0 0 .0 0€     
less wages due 1/ 1/ 0 2 9 0 0 .0 0-€       Add due 3 1/ 12 / 0 2 2 0 0 .0 0€       

3 1,10 0 .0 0€    8 2 ,0 0 3 .0 0€   
Less drawings ( 2 5 %) 2 ,0 5 0 .0 0€     

Working 5 6 ,15 0 .0 0€     
Insurance 4 ,0 8 0 .0 0€     
Add prepaid 1/ 1/ 0 2 72 0 .0 0€       Working 6
Less prepaid 3 1/ 12 / 0 2 1,0 2 0 .0 0-€     Drawings -  goods 5 ,2 0 0 .0 0€     

3 ,78 0 .0 0€     Cash 7,8 0 0 .0 0€     
Furnit ure ( 2 5 %) 5 ,0 0 0 .0 0€     

Working 7 Light  and heat  ( 2 5 %) 2 ,0 5 0 .0 0€     
Int erest  8 % x 12 0 ,0 0 0 Int erest  ( 2 0 %) 1,4 4 0 .0 0€     
x9 / 12 7,2 0 0 .0 0€     2 1,4 9 0 .0 0€    
P aid 4 ,5 0 0 .0 0€     
Due at  3 1/ 12 / 0 2 2 ,70 0 .0 0€     Working 8
Tot al int erest  payable 7,2 0 0 .0 0€     1/ 1/ 2 0 0 2  liabilit ies 2 9 8 ,9 0 0 .0 0€  
Less drawings 1/ 5 1,4 4 0 .0 0€     Less asset s 2 8 8 ,72 0 .0 0-€  
P rofit / loss 5 ,76 0 .0 0€     Goodwill 10 ,18 0 .0 0€    

Workings

Lodgement s 9 3 ,0 0 0 .0 0€   Payment s 10 2 ,5 8 0 .0 0€  
Loan received 12 0 ,0 0 0 .0 0€  P remises purchased 8 0 ,0 0 0 .0 0€   

Invest ment  fund 7,2 0 0 .0 0€     
*Balance c/ d 2 3 ,2 2 0 .0 0€   

2 13 ,0 0 0 .0 0€  2 13 ,0 0 0 .0 0€  

Working 9  -  Bank Account



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

S ales [ W1] 2 0 2 ,4 0 0 .0 0€    
Less Cost  of sales
Opening st ock 1/ 1/ 2 0 0 2 2 2 ,0 0 0 .0 0€      
P urchases [W2 ] 10 2 ,8 0 0 .0 0€     

12 4 ,8 0 0 .0 0€     
Less Closing st ock 3 1/ 12 / 2 0 0 2 2 5 ,0 0 0 .0 0€      
Cost  of Sales 9 9 ,8 0 0 .0 0€      
Gross Prof it 10 2 ,6 0 0 .0 0€     
Add Income from invest ment  f. 12 0 .0 0€          

10 2 ,72 0 .0 0€     
Less Expenses
General expenses [W3 ] 3 1,10 0 .0 0€       
Light  and heat  [W4 ] 6 ,15 0 .0 0€        
Insurance [W5 ] 3 ,78 0 .0 0€       
Covenant 3 ,0 0 0 .0 0€       
Int erest  [W7] 5 ,76 0 .0 0€       4 9 ,79 0 .0 0€      
Net  Prof it 5 2 ,9 3 0 .0 0€      

Trading,  Profit  and Loss Account  for t he year ended 3 1/ 12 / 2 0 0 2



 

 

 

 
 

 

 

 

Int angible Fixed Asset s
Goodwill [W8 ] 10 ,18 0 .0 0€       

Tangible Fixed Asset s
P remises ( 2 4 0 ,0 0 0 +8 0 ,0 0 0 ) 3 2 0 ,0 0 0 .0 0€    
Equipment 2 7,0 0 0 .0 0€      
Furnit ure ( 2 0 ,0 0 0 - 5 ,0 0 0 ) 15 ,0 0 0 .0 0€      3 6 2 ,0 0 0 .0 0€    

Financial Asset s
Invest ment s ( 7,2 0 0 +12 0 ) 7,3 2 0 .0 0€       

3 79 ,5 0 0 .0 0€    
Current  Asset s
Closing st ock 2 5 ,0 0 0 .0 0€      
Debt ors 3 6 ,0 0 0 .0 0€      
Bank [W9 ] 2 3 ,2 2 0 .0 0€      
Cash 6 0 0 .0 0€         
Insurance prepaid 1,0 2 0 .0 0€        

8 5 ,8 4 0 .0 0€      

Credit ors:  Amount s due 1yr
Credit ors 2 3 ,0 0 0 .0 0€      
Int erest  due [W7] 2 ,70 0 .0 0€       
Elect ricit y due 2 0 0 .0 0€         2 5 ,9 0 0 .0 0€      
Working Capit al 5 9 ,9 4 0 .0 0€      
Tot al Net  Asset s 4 3 9 ,4 4 0 .0 0€    

Financed By
Credit ors: Amount s due af t er 1yr
Loan 12 0 ,0 0 0 .0 0€     

Capit al 2 8 0 ,0 0 0 .0 0€    
Add Capit al int roduced ( div. ) 8 ,0 0 0 .0 0€       
Add Net  P rofit 5 2 ,9 3 0 .0 0€      

3 4 0 ,9 3 0 .0 0€    
Less Drawings [W6 ] 2 1,4 9 0 .0 0€      3 19 ,4 4 0 .0 0€     
Capit al Employed 4 3 9 ,4 4 0 .0 0€    

Balance Sheet  as at  3 1/ 12 / 2 0 0 2



 

Type B Balance Sheet/Net Worth Method 
 

When using this method, the profit is found by using the Balance Sheet. The Net 
Worth of the business is equal to Total Assets – Outside Liabilities. When capital 
introduced and drawings are taken into account, changes in the Net Worth from one 
year to another can be associated with a profit or loss for that year.  

This method does have some drawbacks however; 

• A full Profit and Loss account is not prepared 
• The business is basically relying on estimates 
• Revenue earned and expenses incurred are not shown 

 

When answering in this format follow this sequence: 

1. Find opening capital or goodwill 
• Add the assets at the beginning and subtract liabilities 

 
2. Work out loan interest 

 
Interest on Loan 
Example: 10% on loan of €100,000 taken out on 1/4/00. Drawings are one third 
of interest payable and interest paid is €2,000 
 
Interest payable = 10% of 100,000 for 9 months = €7,500. Therefore our 
drawings are €2,500. 
 
Interest paid    €2,000 
Interest due at 31/12/00  €5,500 
Total interest payable for year €7,500 
-Drawings    €2,500 
Profit/loss    €5,000 
 
 
 
 
 



 
3. Work out expenses regarding drawings 

 
Used Method   Paid Method 
Rent paid X Rent paid X 
Add Due (at end yr) X Less Drawings (1st) (X) 
Less Prepaid (end yr (X)  X 
 X Add Due (at end yr) X 
Less Drawings (last) X Less Prepaid (end yr X 
Profit/loss X Profit/loss X 
    

 
4. Work out drawing 

• Total drawings = cash drawings + stock drawings + expenses drawings 
+ college fees 

Note: 

• If you are required to find drawings on interest payable or on rent 
payable then apply the “used” method 

• Wages due at the beginning of the year are always deducted from 
general expenses 

• Stock of fuel is light/heat prepaid 
• Covenant for charity is an expense 
• College fees for family members are drawings 
• Dividends are usually capital introduced and are added to capital in the 

Balance Sheet 
• Interest earned on the investment fund is added to gross profit 
• Investment fund + investment interest go into financial assets in the 

balance sheet i.e. assuming the investment interest is due at the end of 
year 

 

 

 

 

 

 



 

 
5. Prepare a closing Balance Sheet 

• The balancing figure is the net profit or net loss 
 
 

6. Prepare a trading, profit and loss account 

Lay out a trading, profit and loss account, putting in the figures given and leaving 
other figures such as sales and purchases blank. 

Start at the bottom i.e. net profit and add on expenses to get gross profit. If 
given investment fund interest, this must be subtracted from expenses to get 
gross profit.  

In the trading account:  

a) Sales – gross profit = cost of sales (if margin is given) 
Or 

Gross profit + cost of sales = sales (if mark-up is given) 
 

b) Cost of sales + closing stock – opening stock = purchases 
 

c) Purchases + stock drawings = the original purchases 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 



 

Please attempt the following question using your notes and check it 
against the solution 

Q15.2 

On 1/1/2001 K. Ryan purchased a business for €420,000 consisting of the following 
tangible assets and liabilities, premises €290,000; stock €38,000; debtors €30,000; 
three months rates prepaid €460; trade creditors €36,000; wages due €1,000 and 5% 
investments €60,000. 

During 2001 Ryan did not keep a full set of accounts but estimates that gross profit 
was 20% of sales and was able to supply the following information on 31/12/2001. 

Ryan lodged to the business bank account: dividends €10,000; investment interest 
€2,800. 

• Ryan made the following payment from the business bank account during the 
year: equipment (purchased 1/6/2001) €36,000; light and heat €,000; annual 
rates €4,080; interest €2,000; wages and general expenses €80,000; delivery 
van (purchased 1/9/2001) €30,000 

• Each week Ryan took stock from goods valued at €100 and cash of €150 for 
household expenses 

• Ryan borrowed €120,000 on 1/8/2001 part of which was used to purchase an 
adjoining premises costing €40,000. It was agreed that Ryan would pay the 
interest on the last day of each month at the rate of 6% per annum. The capital 
sum to be repaid in 20 equal half yearly instalments, the first instalment 
becomes due on 1/2/2002 

• Ryan estimated that 20% of rates payable and 20% of light and heat used as 
well as 25% of interest payable for the year should be attributed to the private 
section of the premises 

• Ryan has decided to charge depreciation at 15% per annum on the delivery van 
and 10% on equipment per annum 

• Included in the assets and liabilities of the firm on 31/12/2001 were stock 
€25,500 (which includes a stock of heating oil €200); debtors €36,000; trade 
creditors €33,000; electricity due €350 and bank overdraft €5,000 
 
 
 
 
 



 

 
 
 
 
 

Working 1
Asset s: Liabilit ies:
P remises 2 9 0 ,0 0 0 .0 0€  Capit al 4 2 0 ,0 0 0 .0 0€  
St ock 3 8 ,0 0 0 .0 0€   Credit ors 3 6 ,0 0 0 .0 0€   
Debt ors 3 0 ,0 0 0 .0 0€   Wages due 1,0 0 0 .0 0€     
Rat es prepaid 4 6 0 .0 0€       4 5 7,0 0 0 .0 0€  
Invest ment s 6 0 ,0 0 0 .0 0€   

4 18 ,4 6 0 .0 0€  
*Goodwill 3 8 ,5 4 0 .0 0€   

4 5 7,0 0 0 .0 0€  

Working 2 Working 3
Int erest  6 % of 12 0 k x 5 / 12  = 3 ,0 0 0 Rat es paid 4 ,0 8 0 .0 0€     

Add prepaid 1/ 1/ 0 1 4 6 0 .0 0€       
Int erest  paid 2 ,0 0 0 .0 0€     Less prepaid 3 1/ 12 / 0 1 1,0 2 0 .0 0-€     
Due 3 1/ 12 / 0 1 1,0 0 0 .0 0€     P ayable 3 ,5 2 0 .0 0€     
Tot al int erest  payable 3 ,0 0 0 .0 0€     Less Drawings 2 0 % 70 4 .0 0-€       
Less Drawings 2 5 % 75 0 .0 0€       2 ,8 16 .0 0€     
P / L 2 ,2 5 0 .0 0€     

Working 4 Working 5  Drawings:
Light  and Heat  paid 7,0 0 0 .0 0€     P urchases 5 ,2 0 0 .0 0€     
Less Heat ing oil 2 0 0 .0 0-€       Cash 7,8 0 0 .0 0€     
Add due 3 1/ 12 / 0 1 3 5 0 .0 0€       Int erst 75 0 .0 0€       

7,15 0 .0 0€     Rat es 70 4 .0 0€       
Less Drawings 2 0 % 1,4 3 0 .0 0€     Light  and Heat 1,4 3 0 .0 0€     
P / L 5 ,72 0 .0 0€     15 ,8 8 4 .0 0€    

Working 6 Working 7
Equipment 3 6 ,0 0 0 .0 0€   Delivery van 3 0 ,0 0 0 .0 0€   
Less Dep 7 mt hs 2 ,10 0 .0 0€     Less Dep.  4  mt hs 1,5 0 0 .0 0€     

3 3 ,9 0 0 .0 0€   2 8 ,5 0 0 .0 0€   

Working 8 Working 9
Invest ment  int erest  rec. 2 ,8 0 0 .0 0€     General expenses 8 0 ,0 0 0 .0 0€   
Add due,  3 1/ 12 / 0 1 2 0 0 .0 0€       Less due 1/ 1/ 0 1 1,0 0 0 .0 0€     
P / L 3 ,0 0 0 .0 0€     79 ,0 0 0 .0 0€   

Workings 



 

 
 
 
 
 
 

Int angible Fixed Asset s
Goodwill [W1] 3 8 ,5 4 0 .0 0€   

Tangible Fixed Asset s Cost Depreciat ion Book Value
P remises 3 3 0 ,0 0 0 .0 0€  - 3 3 0 ,0 0 0 .0 0€  
Equipment 3 6 ,0 0 0 .0 0€   2 ,10 0 .0 0€     3 3 ,9 0 0 .0 0€   
Delivery Vans 3 0 ,0 0 0 .0 0€   1,5 0 0 .0 0€     2 8 ,5 0 0 .0 0€   

3 9 6 ,0 0 0 .0 0€  3 ,6 0 0 .0 0€     3 9 2 ,4 0 0 .0 0€  3 9 2 ,4 0 0 .0 0€  
Financial Asset s
Invest ment s 6 0 ,0 0 0 .0 0€   

4 9 0 ,9 4 0 .0 0€  
Current  Asset s
Closing st ock 2 5 ,3 0 0 .0 0€   
St ock of heat ing oil 2 0 0 .0 0€       
Debt ors 3 6 ,0 0 0 .0 0€   
Invest ment  int erest  due 2 0 0 .0 0€       
Rat es prepaid 1,0 2 0 .0 0€     

6 2 ,72 0 .0 0€   
Credit ors: Amount s 
due wit hin one year
Credit ors 3 3 ,0 0 0 .0 0€   
Bank 5 ,0 0 0 .0 0€     
Loan inst alment  due 12 ,0 0 0 .0 0€    
Int erest  due [W2 ] 1,0 0 0 .0 0€     
Elect ricit y due 3 5 0 .0 0€       5 1,3 5 0 .0 0€    
Working Capit al 11,3 70 .0 0€     
Tot al net  asset s 5 0 2 ,3 10 .0 0€  

Financed By: Credit ors
Amount s due af t er 1yr
Loan 10 8 ,0 0 0 .0 0€  

Capit al 4 2 0 ,0 0 0 .0 0€  
Add Capit al int roduced 10 ,0 0 0 .0 0€    

4 3 0 ,0 0 0 .0 0€  
Less Drawings [W5 ] 15 ,8 8 4 .0 0€    

4 14 ,116 .0 0€   
Add Net  Loss* 19 ,8 0 6 .0 0€    
Capit al Employed 5 0 2 ,3 10 .0 0€  

Balance Sheet  as at  3 1/ 12 / 2 0 0 1



 
 
 
 

 
 

 
  

3 8 2 ,9 0 0 .0 0€  

3 8 ,0 0 0 .0 0€   
2 8 8 ,5 2 0 .0 0€  
3 2 6 ,5 2 0 .0 0€  

2 0 ,2 0 0 .0 0€   
3 0 6 ,3 2 0 .0 0€  

76 ,5 8 0 .0 0€    
3 ,0 0 0 .0 0€     

73 ,5 8 0 .0 0€    

79 ,0 0 0 .0 0€   
2 ,8 16 .0 0€     
5 ,72 0 .0 0€     
2 ,2 5 0 .0 0€     
1,5 0 0 .0 0€     
2 ,10 0 .0 0€     9 3 ,3 8 6 .0 0€   

19 , 8 0 6 . 0 0- €  

Int erest  [W1]
Depreciat ion -  Delivery Van [W6 ]
Equipment  [W7]
Net  Loss

Add Invest ment  int erest

Less Expenses
General Expenses [W9 ]
Rat es [W3 ]
Light  and Heat  [W4 ]

Trading,  Profit  and Loss Account  for year ended 3 1/ 12 / 0 2
S ales
Less Cost  of  S ales
Opening st ock 1/ 1/ 2 0 0 2
P urchases ( 2 9 3 ,72 0  -  5 ,2 0 0 )

Less Closing St ock 3 1/ 12 / 2 0 0 2
Cost  of Sales
Gross P rofit



 

 

Homework 
 

Q15.3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 


